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1. (AREIB3) Show your work neatly and circle the correct answer(s).

Solve for x.
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2. (ARIEB3) Show your work neatly, box the r;;ulting inequality and then draw its graph.

Solve the inequality for n. Show your work.
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3. (AREID12) Explain your answer choice and cite two specific pieces of evidence in your explanation.

>
Which graph shows the solution to this Gx* Z‘a -1z
inequality? ~(x s :
6x+2y> 12 2y 2 x*\Z 32 =3¢ *(
z z t
A.

ek X

1

375543711

~

plddid

6(‘0\“0\,, C ez S ‘\’\N; \v\gp}p«p«hk’o\, bﬁ' a-z%r E\l S‘:A%

e Suprabol lells 05 He lne ol & St Fodthormsc?,

X, *%,jmx\be’( lells g et the e mungk be  Shaste ol
CA&%ngE —&L*V h*ﬁL SBince \*-S ”i§niaj€7'

4. (AREID12) Graph the solution set for the system of inequalities below. Han o eﬁ"w{ e
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5. (ACED1) Write and solve an inequality that models this situation. Then, write your answer in a
complete sentence in the space below.

A dance squad needs at least $800.1o0 buy new dance outfits.

e They have savlready.e— Sharbing Vakue ;
e They are selling tickets to a dance performance fore (.

They need to sell x tickets to have enough money to buy the new dance ouffits.
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6. (ACED1) Write and solve an inequality that models this situation. Then, write your answer in a
complete sentence in the space below.

Sam makes tote bags for a school fundraiser.

St alme. —
Y i P
« The fixed Gosts for making the bagéw ﬁ"a}&/f
e The cost of the materials for each bag is $8.50.

e Sam can spend less than a total o@ on the tote bags.
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